Word Problems

Solve the word problems below using either addition or subtraction.

. A chipmunk was gathering food so that she would have enough to eat in her burrow
while she was hibernating. She collected 25 sunflower seeds, 15 pieces of corn and 8
acorns. How many pieces of food did she collect all together?

. Afrog started hibernating. He is going to hibernate for 45 days. He has hibernated for
32 days already. How many more days does he have to hibernate?

Two hedgehogs were digging a burrow so that they could hibernate for the winter. The
needed to dig down 36 inches. They just started and have dug down 8 inches. How
many more inches do they have to dig?

. A bear is getting ready to hibernate. She needs to gather enough food for her and her
two cubs. Each bear needs 6 piles of berries. How many total piles of berries does the
bear need to gather?

Two skunks and their babies are hibernating. They will be hibernating for a total of 90
days. The skunks have been hibernating for 30 days. How many more days do they
have to hibernate?

A family of mice is halfway through hibernation. They had 56 seeds stored so that they
had enough food. If they have already eaten 28 of them, how many more seeds do they

have left to eat?




